
 90 

 1
80

 

 6
0 

 82 

 163 

WORKING DISTANCE ADJUSTMENT:
4x M4X6 (CHC SCREWS INCLUDED)

BALUFF BVS

 72  60.1 

 6
0.

1 

LIGHT MOUNTING HOLES:
RING/SDOME/FD : 4x M4X8 (CHC SCREWS INCLUDED)
FD (D>39) : 4x M4X10 (CHC SCREWS NOT INCLUDED)

EFFM-1-0025-STEEL-V2

EFFM-1-0024-STEEL-V2

DETAIL 1
SCALE 1 : 1

CAMERA MOUNTING HOLES:
4x M4 (SCREWS NOT INCLUDED)

  QUICK INSTRUCTION GUIDE

  1-MOUNT THE CAMERA ON THE EFFM-1-0025-STEEL-V2  
  2-MOUNT THE 2 PARTS TOGETHER
  3-CHOOSE YOUR WORKING DISTANCE
  4-MOUNT THE BRACKET ON THE LIGHT

4
3

2
1

ABCDEFGH

4

3

2

1

ABCDEFGH

C
E 

D
O

C
UM

EN
T 

ET
 L

ES
 IN

FO
RM

A
TIO

N
S 

Q
U'

IL
 C

O
N

TIE
N

T 
SO

N
T 

C
O

N
FI

D
EN

TIE
LS

 E
T 

SO
N

T 
LA

PR
O

PR
IE

TE
 E

XC
LU

SI
V

E 
D

E 
EF

FI
LU

X.
 IL

S 
N

E 
D

O
IV

EN
T 

ET
RE

 C
O

M
M

UN
IQ

UE
S 

Q
U'

A
UX

PE
RS

O
N

N
ES

 A
YA

N
T 

A
 E

N
 C

O
N

N
A

ITR
E 

ET
 N

E 
PE

UV
EN

T 
ET

RE
 R

EP
RO

D
UI

TS
 N

I D
IV

UL
G

UE
S 

A
TO

UT
E 

A
UT

RE
 P

ER
SO

N
N

E 
SA

N
S 

A
UT

O
RI

SA
TIO

N
 P

RE
A

LA
BL

E 
EC

RI
TE

 P
A

R 
EF

FI
LU

X

TH
IS

 D
O

C
UM

EN
T 

A
N

D
 T

HE
 IN

FO
RM

A
TIO

N
 IT

 C
O

N
TA

IN
S 

A
RE

 P
RO

PE
RT

Y 
O

F
EF

FI
LU

X 
A

N
D

 C
O

N
FI

D
EN

TIA
L.

 T
HE

Y 
SH

A
LL

 N
O

T 
BE

 R
EP

RO
D

UC
ED

 N
O

R
D

IS
C

LO
SE

D
 T

O
 A

N
Y 

PE
RS

O
N

 E
XC

EP
T 

TO
 T

HO
SE

 H
A

V
IN

G
 A

 N
EE

D
 T

O
 K

N
O

W
TH

EM
 W

ITH
O

UT
 P

RI
O

R 
W

RI
TT

EN
 C

O
N

SE
N

T 
O

F 
EF

FI
LU

X

/
Revision

EFFM-1-HORI-STEEL-V2

CAMERA

Designation

PageScale Size
A3

Mail: sales@effilux.fr
Tel : +33 9 72 52 70 03
www.effilux.com

BALUFF BVS

1:2

Unit : mm

1/15

 

 

ISO 2768 - fH-E

General Tolerances15/11/2023
Date

1 Rue de Terre Neuve
Mini Parc du Verger
Bâtiment E
91940 Les Ulis, France



 90 

 1
80

 

 6
0 

 82 

 163 

WORKING DISTANCE ADJUSTMENT:
4x M4X6 (CHC SCREWS INCLUDED)

COGNEX D900

 72  60.1 

 6
0.

1 

LIGHT MOUNTING HOLES:
RING/SDOME/FD : 4x M4X8 (CHC SCREWS INCLUDED)
FD (D>39) : 4x M4X10 (CHC SCREWS NOT INCLUDED)

EFFM-1-0025-STEEL-V2

EFFM-1-0024-STEEL-V2

DETAIL 2

CAMERA MOUNTING HOLES:
4x M4 (SCREWS NOT INCLUDED)

  QUICK INSTRUCTION GUIDE

  1-MOUNT THE CAMERA ON THE EFFM-1-0025-STEEL-V2  
  2-MOUNT THE 2 PARTS TOGETHER
  3-CHOOSE YOUR WORKING DISTANCE
  4-MOUNT THE BRACKET ON THE LIGHT

4
3

2
1

ABCDEFGH

4

3

2

1

ABCDEFGH

C
E 

D
O

C
UM

EN
T 

ET
 L

ES
 IN

FO
RM

A
TIO

N
S 

Q
U'

IL
 C

O
N

TIE
N

T 
SO

N
T 

C
O

N
FI

D
EN

TIE
LS

 E
T 

SO
N

T 
LA

PR
O

PR
IE

TE
 E

XC
LU

SI
V

E 
D

E 
EF

FI
LU

X.
 IL

S 
N

E 
D

O
IV

EN
T 

ET
RE

 C
O

M
M

UN
IQ

UE
S 

Q
U'

A
UX

PE
RS

O
N

N
ES

 A
YA

N
T 

A
 E

N
 C

O
N

N
A

ITR
E 

ET
 N

E 
PE

UV
EN

T 
ET

RE
 R

EP
RO

D
UI

TS
 N

I D
IV

UL
G

UE
S 

A
TO

UT
E 

A
UT

RE
 P

ER
SO

N
N

E 
SA

N
S 

A
UT

O
RI

SA
TIO

N
 P

RE
A

LA
BL

E 
EC

RI
TE

 P
A

R 
EF

FI
LU

X

TH
IS

 D
O

C
UM

EN
T 

A
N

D
 T

HE
 IN

FO
RM

A
TIO

N
 IT

 C
O

N
TA

IN
S 

A
RE

 P
RO

PE
RT

Y 
O

F
EF

FI
LU

X 
A

N
D

 C
O

N
FI

D
EN

TIA
L.

 T
HE

Y 
SH

A
LL

 N
O

T 
BE

 R
EP

RO
D

UC
ED

 N
O

R
D

IS
C

LO
SE

D
 T

O
 A

N
Y 

PE
RS

O
N

 E
XC

EP
T 

TO
 T

HO
SE

 H
A

V
IN

G
 A

 N
EE

D
 T

O
 K

N
O

W
TH

EM
 W

ITH
O

UT
 P

RI
O

R 
W

RI
TT

EN
 C

O
N

SE
N

T 
O

F 
EF

FI
LU

X

/
Revision

EFFM-1-HORI-STEEL-V2

CAMERA

Designation

PageScale Size
A3

Mail: sales@effilux.fr
Tel : +33 9 72 52 70 03
www.effilux.com

COGNEX D900

1:2

Unit : mm

2/15

 

 

ISO 2768 - fH-E

General Tolerances15/11/2023
Date

1 Rue de Terre Neuve
Mini Parc du Verger
Bâtiment E
91940 Les Ulis, France



 90 

 1
80

 

 6
0 

 82 

 163 

WORKING DISTANCE ADJUSTMENT:
4x M4X6 (CHC SCREWS INCLUDED)

COGNEX IN-SIGHT 5000

 72 

 6
0.

1 

 60.1 

LIGHT MOUNTING HOLES:
RING/SDOME/FD : 4x M4X8 (CHC SCREWS INCLUDED)
FD (D>39) : 4x M4X10 (CHC SCREWS NOT INCLUDED)

EFFM-1-0025-STEEL-V2

EFFM-1-0024-STEEL-V2

DETAIL 3

CAMERA MOUNTING HOLES:
4x M4 (SCREWS NOT INCLUDED)

  QUICK INSTRUCTION GUIDE

  1-MOUNT THE CAMERA ON THE EFFM-1-0025-STEEL-V2  
  2-MOUNT THE 2 PARTS TOGETHER
  3-CHOOSE YOUR WORKING DISTANCE
  4-MOUNT THE BRACKET ON THE LIGHT

4
3

2
1

ABCDEFGH

4

3

2

1

ABCDEFGH

C
E 

D
O

C
UM

EN
T 

ET
 L

ES
 IN

FO
RM

A
TIO

N
S 

Q
U'

IL
 C

O
N

TIE
N

T 
SO

N
T 

C
O

N
FI

D
EN

TIE
LS

 E
T 

SO
N

T 
LA

PR
O

PR
IE

TE
 E

XC
LU

SI
V

E 
D

E 
EF

FI
LU

X.
 IL

S 
N

E 
D

O
IV

EN
T 

ET
RE

 C
O

M
M

UN
IQ

UE
S 

Q
U'

A
UX

PE
RS

O
N

N
ES

 A
YA

N
T 

A
 E

N
 C

O
N

N
A

ITR
E 

ET
 N

E 
PE

UV
EN

T 
ET

RE
 R

EP
RO

D
UI

TS
 N

I D
IV

UL
G

UE
S 

A
TO

UT
E 

A
UT

RE
 P

ER
SO

N
N

E 
SA

N
S 

A
UT

O
RI

SA
TIO

N
 P

RE
A

LA
BL

E 
EC

RI
TE

 P
A

R 
EF

FI
LU

X

TH
IS

 D
O

C
UM

EN
T 

A
N

D
 T

HE
 IN

FO
RM

A
TIO

N
 IT

 C
O

N
TA

IN
S 

A
RE

 P
RO

PE
RT

Y 
O

F
EF

FI
LU

X 
A

N
D

 C
O

N
FI

D
EN

TIA
L.

 T
HE

Y 
SH

A
LL

 N
O

T 
BE

 R
EP

RO
D

UC
ED

 N
O

R
D

IS
C

LO
SE

D
 T

O
 A

N
Y 

PE
RS

O
N

 E
XC

EP
T 

TO
 T

HO
SE

 H
A

V
IN

G
 A

 N
EE

D
 T

O
 K

N
O

W
TH

EM
 W

ITH
O

UT
 P

RI
O

R 
W

RI
TT

EN
 C

O
N

SE
N

T 
O

F 
EF

FI
LU

X

/
Revision

EFFM-1-HORI-STEEL-V2

CAMERA

Designation

PageScale Size
A3

Mail: sales@effilux.fr
Tel : +33 9 72 52 70 03
www.effilux.com

COGNEX IN-SIGHT 5000

1:2

Unit : mm

3/15

 

 

ISO 2768 - fH-E

General Tolerances15/11/2023
Date

1 Rue de Terre Neuve
Mini Parc du Verger
Bâtiment E
91940 Les Ulis, France



 90 

 1
80

 

 6
0 

 82 

 163 

WORKING DISTANCE ADJUSTMENT:
4x M4X6 (CHC SCREWS INCLUDED) COGNEX IN-SIGHT 7000

 60.1  72 

 6
0.

1 

LIGHT MOUNTING HOLES:
RING/SDOME/FD : 4x M4X8 (CHC SCREWS INCLUDED)
FD (D>39) : 4x M4X10 (CHC SCREWS NOT INCLUDED)

EFFM-1-0025-STEEL-V2

EFFM-1-0024-STEEL-V2

DETAIL 4
SCALE 1 : 1

CAMERA MOUNTING HOLES:
4x M3 (SCREWS NOT INCLUDED)

  QUICK INSTRUCTION GUIDE

  1-MOUNT THE CAMERA ON THE EFFM-1-0025-STEEL-V2  
  2-MOUNT THE 2 PARTS TOGETHER
  3-CHOOSE YOUR WORKING DISTANCE
  4-MOUNT THE BRACKET ON THE LIGHT

4
3

2
1

ABCDEFGH

4

3

2

1

ABCDEFGH

C
E 

D
O

C
UM

EN
T 

ET
 L

ES
 IN

FO
RM

A
TIO

N
S 

Q
U'

IL
 C

O
N

TIE
N

T 
SO

N
T 

C
O

N
FI

D
EN

TIE
LS

 E
T 

SO
N

T 
LA

PR
O

PR
IE

TE
 E

XC
LU

SI
V

E 
D

E 
EF

FI
LU

X.
 IL

S 
N

E 
D

O
IV

EN
T 

ET
RE

 C
O

M
M

UN
IQ

UE
S 

Q
U'

A
UX

PE
RS

O
N

N
ES

 A
YA

N
T 

A
 E

N
 C

O
N

N
A

ITR
E 

ET
 N

E 
PE

UV
EN

T 
ET

RE
 R

EP
RO

D
UI

TS
 N

I D
IV

UL
G

UE
S 

A
TO

UT
E 

A
UT

RE
 P

ER
SO

N
N

E 
SA

N
S 

A
UT

O
RI

SA
TIO

N
 P

RE
A

LA
BL

E 
EC

RI
TE

 P
A

R 
EF

FI
LU

X

TH
IS

 D
O

C
UM

EN
T 

A
N

D
 T

HE
 IN

FO
RM

A
TIO

N
 IT

 C
O

N
TA

IN
S 

A
RE

 P
RO

PE
RT

Y 
O

F
EF

FI
LU

X 
A

N
D

 C
O

N
FI

D
EN

TIA
L.

 T
HE

Y 
SH

A
LL

 N
O

T 
BE

 R
EP

RO
D

UC
ED

 N
O

R
D

IS
C

LO
SE

D
 T

O
 A

N
Y 

PE
RS

O
N

 E
XC

EP
T 

TO
 T

HO
SE

 H
A

V
IN

G
 A

 N
EE

D
 T

O
 K

N
O

W
TH

EM
 W

ITH
O

UT
 P

RI
O

R 
W

RI
TT

EN
 C

O
N

SE
N

T 
O

F 
EF

FI
LU

X

/
Revision

EFFM-1-HORI-STEEL-V2

CAMERA

Designation

PageScale Size
A3

Mail: sales@effilux.fr
Tel : +33 9 72 52 70 03
www.effilux.com

COGNEX IN-SIGHT 7000

1:2

Unit : mm

4/15

 

 

ISO 2768 - fH-E

General Tolerances15/11/2023
Date

1 Rue de Terre Neuve
Mini Parc du Verger
Bâtiment E
91940 Les Ulis, France



 90 

 1
80

 

 6
0 

 82 

 163 

WORKING DISTANCE ADJUSTMENT:
4x M4X6 (CHC SCREWS INCLUDED)

COGNEX IN-SIGHT 9000

 72 

 6
0.

1 

 60.1 

LIGHT MOUNTING HOLES:
RING/SDOME/FD : 4x M4X8 (CHC SCREWS INCLUDED)
FD (D>39) : 4x M4X10 (CHC SCREWS NOT INCLUDED)

EFFM-1-0025-STEEL-V2

EFFM-1-0024-STEEL-V2

DETAIL 5

CAMERA MOUNTING HOLES:
4x M4 (SCREWS NOT INCLUDED)

  QUICK INSTRUCTION GUIDE

  1-MOUNT THE CAMERA ON THE EFFM-1-0025-STEEL-V2  
  2-MOUNT THE 2 PARTS TOGETHER
  3-CHOOSE YOUR WORKING DISTANCE
  4-MOUNT THE BRACKET ON THE LIGHT

4
3

2
1

ABCDEFGH

4

3

2

1

ABCDEFGH

C
E 

D
O

C
UM

EN
T 

ET
 L

ES
 IN

FO
RM

A
TIO

N
S 

Q
U'

IL
 C

O
N

TIE
N

T 
SO

N
T 

C
O

N
FI

D
EN

TIE
LS

 E
T 

SO
N

T 
LA

PR
O

PR
IE

TE
 E

XC
LU

SI
V

E 
D

E 
EF

FI
LU

X.
 IL

S 
N

E 
D

O
IV

EN
T 

ET
RE

 C
O

M
M

UN
IQ

UE
S 

Q
U'

A
UX

PE
RS

O
N

N
ES

 A
YA

N
T 

A
 E

N
 C

O
N

N
A

ITR
E 

ET
 N

E 
PE

UV
EN

T 
ET

RE
 R

EP
RO

D
UI

TS
 N

I D
IV

UL
G

UE
S 

A
TO

UT
E 

A
UT

RE
 P

ER
SO

N
N

E 
SA

N
S 

A
UT

O
RI

SA
TIO

N
 P

RE
A

LA
BL

E 
EC

RI
TE

 P
A

R 
EF

FI
LU

X

TH
IS

 D
O

C
UM

EN
T 

A
N

D
 T

HE
 IN

FO
RM

A
TIO

N
 IT

 C
O

N
TA

IN
S 

A
RE

 P
RO

PE
RT

Y 
O

F
EF

FI
LU

X 
A

N
D

 C
O

N
FI

D
EN

TIA
L.

 T
HE

Y 
SH

A
LL

 N
O

T 
BE

 R
EP

RO
D

UC
ED

 N
O

R
D

IS
C

LO
SE

D
 T

O
 A

N
Y 

PE
RS

O
N

 E
XC

EP
T 

TO
 T

HO
SE

 H
A

V
IN

G
 A

 N
EE

D
 T

O
 K

N
O

W
TH

EM
 W

ITH
O

UT
 P

RI
O

R 
W

RI
TT

EN
 C

O
N

SE
N

T 
O

F 
EF

FI
LU

X

/
Revision

EFFM-1-HORI-STEEL-V2

CAMERA

Designation

PageScale Size
A3

Mail: sales@effilux.fr
Tel : +33 9 72 52 70 03
www.effilux.com

COGNEX IN-SIGHT 9000

1:2

Unit : mm

5/15

 

 

ISO 2768 - fH-E

General Tolerances15/11/2023
Date

1 Rue de Terre Neuve
Mini Parc du Verger
Bâtiment E
91940 Les Ulis, France



 90 

 1
80

 

 6
0 

 82 

 163 

WORKING DISTANCE ADJUSTMENT:
4x M4X6 (CHC SCREWS INCLUDED)

DATALOGIC A30

 72 

 6
0.

1 

 60.1 

LIGHT MOUNTING HOLES:
RING/SDOME/FD : 4x M4X8 (CHC SCREWS INCLUDED)
FD (D>39) : 4x M4X10 (CHC SCREWS NOT INCLUDED)

EFFM-1-0025-STEEL-V2

EFFM-1-0024-STEEL-V2

DETAIL 6

CAMERA MOUNTING HOLES:
4x M3 (SCREWS NOT INCLUDED)

  QUICK INSTRUCTION GUIDE

  1-MOUNT THE CAMERA ON THE EFFM-1-0025-STEEL-V2  
  2-MOUNT THE 2 PARTS TOGETHER
  3-CHOOSE YOUR WORKING DISTANCE
  4-MOUNT THE BRACKET ON THE LIGHT

4
3

2
1

ABCDEFGH

4

3

2

1

ABCDEFGH

C
E 

D
O

C
UM

EN
T 

ET
 L

ES
 IN

FO
RM

A
TIO

N
S 

Q
U'

IL
 C

O
N

TIE
N

T 
SO

N
T 

C
O

N
FI

D
EN

TIE
LS

 E
T 

SO
N

T 
LA

PR
O

PR
IE

TE
 E

XC
LU

SI
V

E 
D

E 
EF

FI
LU

X.
 IL

S 
N

E 
D

O
IV

EN
T 

ET
RE

 C
O

M
M

UN
IQ

UE
S 

Q
U'

A
UX

PE
RS

O
N

N
ES

 A
YA

N
T 

A
 E

N
 C

O
N

N
A

ITR
E 

ET
 N

E 
PE

UV
EN

T 
ET

RE
 R

EP
RO

D
UI

TS
 N

I D
IV

UL
G

UE
S 

A
TO

UT
E 

A
UT

RE
 P

ER
SO

N
N

E 
SA

N
S 

A
UT

O
RI

SA
TIO

N
 P

RE
A

LA
BL

E 
EC

RI
TE

 P
A

R 
EF

FI
LU

X

TH
IS

 D
O

C
UM

EN
T 

A
N

D
 T

HE
 IN

FO
RM

A
TIO

N
 IT

 C
O

N
TA

IN
S 

A
RE

 P
RO

PE
RT

Y 
O

F
EF

FI
LU

X 
A

N
D

 C
O

N
FI

D
EN

TIA
L.

 T
HE

Y 
SH

A
LL

 N
O

T 
BE

 R
EP

RO
D

UC
ED

 N
O

R
D

IS
C

LO
SE

D
 T

O
 A

N
Y 

PE
RS

O
N

 E
XC

EP
T 

TO
 T

HO
SE

 H
A

V
IN

G
 A

 N
EE

D
 T

O
 K

N
O

W
TH

EM
 W

ITH
O

UT
 P

RI
O

R 
W

RI
TT

EN
 C

O
N

SE
N

T 
O

F 
EF

FI
LU

X

/
Revision

EFFM-1-HORI-STEEL-V2

CAMERA

Designation

PageScale Size
A3

Mail: sales@effilux.fr
Tel : +33 9 72 52 70 03
www.effilux.com

DATALOGIC A30

1:2

Unit : mm

6/15

 

 

ISO 2768 - fH-E

General Tolerances15/11/2023
Date

1 Rue de Terre Neuve
Mini Parc du Verger
Bâtiment E
91940 Les Ulis, France



 90 

 1
80

 

 6
0 

 82 

 163 

WORKING DISTANCE ADJUSTMENT:
4x M4X6 (CHC SCREWS INCLUDED)

DATALOGIC P1X

 72  60.1 

 6
0.

1 

LIGHT MOUNTING HOLES:
RING/SDOME/FD : 4x M4X8 (CHC SCREWS INCLUDED)
FD (D>39) : 4x M4X10 (CHC SCREWS NOT INCLUDED)

EFFM-1-0025-STEEL-V2

EFFM-1-0024-STEEL-V2

DETAIL 7
SCALE 1 : 1

CAMERA MOUNTING HOLES:
4x M4 (SCREWS NOT INCLUDED)

  QUICK INSTRUCTION GUIDE

  1-MOUNT THE CAMERA ON THE EFFM-1-0025-STEEL-V2  
  2-MOUNT THE 2 PARTS TOGETHER
  3-CHOOSE YOUR WORKING DISTANCE
  4-MOUNT THE BRACKET ON THE LIGHT

4
3

2
1

ABCDEFGH

4

3

2

1

ABCDEFGH

C
E 

D
O

C
UM

EN
T 

ET
 L

ES
 IN

FO
RM

A
TIO

N
S 

Q
U'

IL
 C

O
N

TIE
N

T 
SO

N
T 

C
O

N
FI

D
EN

TIE
LS

 E
T 

SO
N

T 
LA

PR
O

PR
IE

TE
 E

XC
LU

SI
V

E 
D

E 
EF

FI
LU

X.
 IL

S 
N

E 
D

O
IV

EN
T 

ET
RE

 C
O

M
M

UN
IQ

UE
S 

Q
U'

A
UX

PE
RS

O
N

N
ES

 A
YA

N
T 

A
 E

N
 C

O
N

N
A

ITR
E 

ET
 N

E 
PE

UV
EN

T 
ET

RE
 R

EP
RO

D
UI

TS
 N

I D
IV

UL
G

UE
S 

A
TO

UT
E 

A
UT

RE
 P

ER
SO

N
N

E 
SA

N
S 

A
UT

O
RI

SA
TIO

N
 P

RE
A

LA
BL

E 
EC

RI
TE

 P
A

R 
EF

FI
LU

X

TH
IS

 D
O

C
UM

EN
T 

A
N

D
 T

HE
 IN

FO
RM

A
TIO

N
 IT

 C
O

N
TA

IN
S 

A
RE

 P
RO

PE
RT

Y 
O

F
EF

FI
LU

X 
A

N
D

 C
O

N
FI

D
EN

TIA
L.

 T
HE

Y 
SH

A
LL

 N
O

T 
BE

 R
EP

RO
D

UC
ED

 N
O

R
D

IS
C

LO
SE

D
 T

O
 A

N
Y 

PE
RS

O
N

 E
XC

EP
T 

TO
 T

HO
SE

 H
A

V
IN

G
 A

 N
EE

D
 T

O
 K

N
O

W
TH

EM
 W

ITH
O

UT
 P

RI
O

R 
W

RI
TT

EN
 C

O
N

SE
N

T 
O

F 
EF

FI
LU

X

/
Revision

EFFM-1-HORI-STEEL-V2

CAMERA

Designation

PageScale Size
A3

Mail: sales@effilux.fr
Tel : +33 9 72 52 70 03
www.effilux.com

DATALOGIC P1X

1:2

Unit : mm

7/15

 

 

ISO 2768 - fH-E

General Tolerances15/11/2023
Date

1 Rue de Terre Neuve
Mini Parc du Verger
Bâtiment E
91940 Les Ulis, France



 90 

 1
80

 

 6
0 

 82 

 163 

WORKING DISTANCE ADJUSTMENT:
4x M4X6 (CHC SCREWS INCLUDED)

DATALOGIC T4X

 72  60.1 

 6
0.

1 

LIGHT MOUNTING HOLES:
RING/SDOME/FD : 4x M4X8 (CHC SCREWS INCLUDED)
FD (D>39) : 4x M4X10 (CHC SCREWS NOT INCLUDED)

EFFM-1-0025-STEEL-V2

EFFM-1-0024-STEEL-V2

DETAIL 8

CAMERA MOUNTING HOLES:
4x M3 (SCREWS NOT INCLUDED)

  QUICK INSTRUCTION GUIDE

  1-MOUNT THE CAMERA ON THE EFFM-1-0025-STEEL-V2  
  2-MOUNT THE 2 PARTS TOGETHER
  3-CHOOSE YOUR WORKING DISTANCE
  4-MOUNT THE BRACKET ON THE LIGHT

4
3

2
1

ABCDEFGH

4

3

2

1

ABCDEFGH

C
E 

D
O

C
UM

EN
T 

ET
 L

ES
 IN

FO
RM

A
TIO

N
S 

Q
U'

IL
 C

O
N

TIE
N

T 
SO

N
T 

C
O

N
FI

D
EN

TIE
LS

 E
T 

SO
N

T 
LA

PR
O

PR
IE

TE
 E

XC
LU

SI
V

E 
D

E 
EF

FI
LU

X.
 IL

S 
N

E 
D

O
IV

EN
T 

ET
RE

 C
O

M
M

UN
IQ

UE
S 

Q
U'

A
UX

PE
RS

O
N

N
ES

 A
YA

N
T 

A
 E

N
 C

O
N

N
A

ITR
E 

ET
 N

E 
PE

UV
EN

T 
ET

RE
 R

EP
RO

D
UI

TS
 N

I D
IV

UL
G

UE
S 

A
TO

UT
E 

A
UT

RE
 P

ER
SO

N
N

E 
SA

N
S 

A
UT

O
RI

SA
TIO

N
 P

RE
A

LA
BL

E 
EC

RI
TE

 P
A

R 
EF

FI
LU

X

TH
IS

 D
O

C
UM

EN
T 

A
N

D
 T

HE
 IN

FO
RM

A
TIO

N
 IT

 C
O

N
TA

IN
S 

A
RE

 P
RO

PE
RT

Y 
O

F
EF

FI
LU

X 
A

N
D

 C
O

N
FI

D
EN

TIA
L.

 T
HE

Y 
SH

A
LL

 N
O

T 
BE

 R
EP

RO
D

UC
ED

 N
O

R
D

IS
C

LO
SE

D
 T

O
 A

N
Y 

PE
RS

O
N

 E
XC

EP
T 

TO
 T

HO
SE

 H
A

V
IN

G
 A

 N
EE

D
 T

O
 K

N
O

W
TH

EM
 W

ITH
O

UT
 P

RI
O

R 
W

RI
TT

EN
 C

O
N

SE
N

T 
O

F 
EF

FI
LU

X

/
Revision

EFFM-1-HORI-STEEL-V2

CAMERA

Designation

PageScale Size
A3

Mail: sales@effilux.fr
Tel : +33 9 72 52 70 03
www.effilux.com

DATALOGIC T4X

1:2

Unit : mm

8/15

 

 

ISO 2768 - fH-E

General Tolerances15/11/2023
Date

1 Rue de Terre Neuve
Mini Parc du Verger
Bâtiment E
91940 Les Ulis, France



 90 

 1
80

 

 6
0 

 82 

 163 

WORKING DISTANCE ADJUSTMENT:
4x M4X6 (CHC SCREWS INCLUDED)

MATROX GATOREYE

 72  60.1 

 6
0.

1 

LIGHT MOUNTING HOLES:
RING/SDOME/FD : 4x M4X8 (CHC SCREWS INCLUDED)
FD (D>39) : 4x M4X10 (CHC SCREWS NOT INCLUDED)

EFFM-1-0025-STEEL-V2

EFFM-1-0024-STEEL-V2

DETAIL 9

CAMERA MOUNTING HOLES:
4x M4 (SCREWS NOT INCLUDED)

  QUICK INSTRUCTION GUIDE

  1-MOUNT THE CAMERA ON THE EFFM-1-0025-STEEL-V2  
  2-MOUNT THE 2 PARTS TOGETHER
  3-CHOOSE YOUR WORKING DISTANCE
  4-MOUNT THE BRACKET ON THE LIGHT

4
3

2
1

ABCDEFGH

4

3

2

1

ABCDEFGH

C
E 

D
O

C
UM

EN
T 

ET
 L

ES
 IN

FO
RM

A
TIO

N
S 

Q
U'

IL
 C

O
N

TIE
N

T 
SO

N
T 

C
O

N
FI

D
EN

TIE
LS

 E
T 

SO
N

T 
LA

PR
O

PR
IE

TE
 E

XC
LU

SI
V

E 
D

E 
EF

FI
LU

X.
 IL

S 
N

E 
D

O
IV

EN
T 

ET
RE

 C
O

M
M

UN
IQ

UE
S 

Q
U'

A
UX

PE
RS

O
N

N
ES

 A
YA

N
T 

A
 E

N
 C

O
N

N
A

ITR
E 

ET
 N

E 
PE

UV
EN

T 
ET

RE
 R

EP
RO

D
UI

TS
 N

I D
IV

UL
G

UE
S 

A
TO

UT
E 

A
UT

RE
 P

ER
SO

N
N

E 
SA

N
S 

A
UT

O
RI

SA
TIO

N
 P

RE
A

LA
BL

E 
EC

RI
TE

 P
A

R 
EF

FI
LU

X

TH
IS

 D
O

C
UM

EN
T 

A
N

D
 T

HE
 IN

FO
RM

A
TIO

N
 IT

 C
O

N
TA

IN
S 

A
RE

 P
RO

PE
RT

Y 
O

F
EF

FI
LU

X 
A

N
D

 C
O

N
FI

D
EN

TIA
L.

 T
HE

Y 
SH

A
LL

 N
O

T 
BE

 R
EP

RO
D

UC
ED

 N
O

R
D

IS
C

LO
SE

D
 T

O
 A

N
Y 

PE
RS

O
N

 E
XC

EP
T 

TO
 T

HO
SE

 H
A

V
IN

G
 A

 N
EE

D
 T

O
 K

N
O

W
TH

EM
 W

ITH
O

UT
 P

RI
O

R 
W

RI
TT

EN
 C

O
N

SE
N

T 
O

F 
EF

FI
LU

X

/
Revision

EFFM-1-HORI-STEEL-V2

CAMERA

Designation

PageScale Size
A3

Mail: sales@effilux.fr
Tel : +33 9 72 52 70 03
www.effilux.com

MATROX GATOREYE

1:2

Unit : mm

9/15

 

 

ISO 2768 - fH-E

General Tolerances15/11/2023
Date

1 Rue de Terre Neuve
Mini Parc du Verger
Bâtiment E
91940 Les Ulis, France



 90 

 1
80

 

 6
0 

 82 

 163 

WORKING DISTANCE ADJUSTMENT:
4x M4X6 (CHC SCREWS INCLUDED)

MATROX IRIS GT

 72  60.1 

 6
0.

1 

LIGHT MOUNTING HOLES:
RING/SDOME/FD : 4x M4X8 (CHC SCREWS INCLUDED)
FD (D>39) : 4x M4X10 (CHC SCREWS NOT INCLUDED)

EFFM-1-0025-STEEL-V2

EFFM-1-0024-STEEL-V2

DETAIL 10

CAMERA MOUNTING HOLES:
4x M4 (SCREWS NOT INCLUDED)

  QUICK INSTRUCTION GUIDE

  1-MOUNT THE CAMERA ON THE EFFM-1-0025-STEEL-V2  
  2-MOUNT THE 2 PARTS TOGETHER
  3-CHOOSE YOUR WORKING DISTANCE
  4-MOUNT THE BRACKET ON THE LIGHT

4
3

2
1

ABCDEFGH

4

3

2

1

ABCDEFGH

C
E 

D
O

C
UM

EN
T 

ET
 L

ES
 IN

FO
RM

A
TIO

N
S 

Q
U'

IL
 C

O
N

TIE
N

T 
SO

N
T 

C
O

N
FI

D
EN

TIE
LS

 E
T 

SO
N

T 
LA

PR
O

PR
IE

TE
 E

XC
LU

SI
V

E 
D

E 
EF

FI
LU

X.
 IL

S 
N

E 
D

O
IV

EN
T 

ET
RE

 C
O

M
M

UN
IQ

UE
S 

Q
U'

A
UX

PE
RS

O
N

N
ES

 A
YA

N
T 

A
 E

N
 C

O
N

N
A

ITR
E 

ET
 N

E 
PE

UV
EN

T 
ET

RE
 R

EP
RO

D
UI

TS
 N

I D
IV

UL
G

UE
S 

A
TO

UT
E 

A
UT

RE
 P

ER
SO

N
N

E 
SA

N
S 

A
UT

O
RI

SA
TIO

N
 P

RE
A

LA
BL

E 
EC

RI
TE

 P
A

R 
EF

FI
LU

X

TH
IS

 D
O

C
UM

EN
T 

A
N

D
 T

HE
 IN

FO
RM

A
TIO

N
 IT

 C
O

N
TA

IN
S 

A
RE

 P
RO

PE
RT

Y 
O

F
EF

FI
LU

X 
A

N
D

 C
O

N
FI

D
EN

TIA
L.

 T
HE

Y 
SH

A
LL

 N
O

T 
BE

 R
EP

RO
D

UC
ED

 N
O

R
D

IS
C

LO
SE

D
 T

O
 A

N
Y 

PE
RS

O
N

 E
XC

EP
T 

TO
 T

HO
SE

 H
A

V
IN

G
 A

 N
EE

D
 T

O
 K

N
O

W
TH

EM
 W

ITH
O

UT
 P

RI
O

R 
W

RI
TT

EN
 C

O
N

SE
N

T 
O

F 
EF

FI
LU

X

/
Revision

EFFM-1-HORI-STEEL-V2

CAMERA

Designation

PageScale Size
A3

Mail: sales@effilux.fr
Tel : +33 9 72 52 70 03
www.effilux.com

MATROX IRIS GT

1:2

Unit : mm

10/15

 

 

ISO 2768 - fH-E

General Tolerances15/11/2023
Date

1 Rue de Terre Neuve
Mini Parc du Verger
Bâtiment E
91940 Les Ulis, France



 90 

 1
80

 

 6
0 

 82 

 163 

WORKING DISTANCE ADJUSTMENT:
4x M4X6 (CHC SCREWS INCLUDED)

MATROX IRIS GTR

 72 

 6
0.

1 

 60.1 

LIGHT MOUNTING HOLES:
RING/SDOME/FD : 4x M4X8 (CHC SCREWS INCLUDED)
FD (D>39) : 4x M4X10 (CHC SCREWS NOT INCLUDED)

EFFM-1-0025-STEEL-V2

EFFM-1-0024-STEEL-V2

DETAIL 11

CAMERA MOUNTING HOLES:
4x M4 (SCREWS NOT INCLUDED)

  QUICK INSTRUCTION GUIDE

  1-MOUNT THE CAMERA ON THE EFFM-1-0025-STEEL-V2  
  2-MOUNT THE 2 PARTS TOGETHER
  3-CHOOSE YOUR WORKING DISTANCE
  4-MOUNT THE BRACKET ON THE LIGHT

4
3

2
1

ABCDEFGH

4

3

2

1

ABCDEFGH

C
E 

D
O

C
UM

EN
T 

ET
 L

ES
 IN

FO
RM

A
TIO

N
S 

Q
U'

IL
 C

O
N

TIE
N

T 
SO

N
T 

C
O

N
FI

D
EN

TIE
LS

 E
T 

SO
N

T 
LA

PR
O

PR
IE

TE
 E

XC
LU

SI
V

E 
D

E 
EF

FI
LU

X.
 IL

S 
N

E 
D

O
IV

EN
T 

ET
RE

 C
O

M
M

UN
IQ

UE
S 

Q
U'

A
UX

PE
RS

O
N

N
ES

 A
YA

N
T 

A
 E

N
 C

O
N

N
A

ITR
E 

ET
 N

E 
PE

UV
EN

T 
ET

RE
 R

EP
RO

D
UI

TS
 N

I D
IV

UL
G

UE
S 

A
TO

UT
E 

A
UT

RE
 P

ER
SO

N
N

E 
SA

N
S 

A
UT

O
RI

SA
TIO

N
 P

RE
A

LA
BL

E 
EC

RI
TE

 P
A

R 
EF

FI
LU

X

TH
IS

 D
O

C
UM

EN
T 

A
N

D
 T

HE
 IN

FO
RM

A
TIO

N
 IT

 C
O

N
TA

IN
S 

A
RE

 P
RO

PE
RT

Y 
O

F
EF

FI
LU

X 
A

N
D

 C
O

N
FI

D
EN

TIA
L.

 T
HE

Y 
SH

A
LL

 N
O

T 
BE

 R
EP

RO
D

UC
ED

 N
O

R
D

IS
C

LO
SE

D
 T

O
 A

N
Y 

PE
RS

O
N

 E
XC

EP
T 

TO
 T

HO
SE

 H
A

V
IN

G
 A

 N
EE

D
 T

O
 K

N
O

W
TH

EM
 W

ITH
O

UT
 P

RI
O

R 
W

RI
TT

EN
 C

O
N

SE
N

T 
O

F 
EF

FI
LU

X

/
Revision

EFFM-1-HORI-STEEL-V2

CAMERA

Designation

PageScale Size
A3

Mail: sales@effilux.fr
Tel : +33 9 72 52 70 03
www.effilux.com

MATROX IRIS GTR

1:2

Unit : mm

11/15

 

 

ISO 2768 - fH-E

General Tolerances15/11/2023
Date

1 Rue de Terre Neuve
Mini Parc du Verger
Bâtiment E
91940 Les Ulis, France



 90 

 1
80

 

 6
0 

 82 

 163 

WORKING DISTANCE ADJUSTMENT:
4x M4X6 (CHC SCREWS INCLUDED) SICK INSPECTOR

 72  60.1 

 6
0.

1 

LIGHT MOUNTING HOLES:
RING/SDOME/FD : 4x M4X8 (CHC SCREWS INCLUDED)
FD (D>39) : 4x M4X10 (CHC SCREWS NOT INCLUDED)

EFFM-1-0025-STEEL-V2

EFFM-1-0024-STEEL-V2

DETAIL 12

CAMERA MOUNTING HOLES:
3x M4 (SCREWS NOT INCLUDED)

  QUICK INSTRUCTION GUIDE

  1-MOUNT THE CAMERA ON THE EFFM-1-0025-STEEL-V2  
  2-MOUNT THE 2 PARTS TOGETHER
  3-CHOOSE YOUR WORKING DISTANCE
  4-MOUNT THE BRACKET ON THE LIGHT

4
3

2
1

ABCDEFGH

4

3

2

1

ABCDEFGH

C
E 

D
O

C
UM

EN
T 

ET
 L

ES
 IN

FO
RM

A
TIO

N
S 

Q
U'

IL
 C

O
N

TIE
N

T 
SO

N
T 

C
O

N
FI

D
EN

TIE
LS

 E
T 

SO
N

T 
LA

PR
O

PR
IE

TE
 E

XC
LU

SI
V

E 
D

E 
EF

FI
LU

X.
 IL

S 
N

E 
D

O
IV

EN
T 

ET
RE

 C
O

M
M

UN
IQ

UE
S 

Q
U'

A
UX

PE
RS

O
N

N
ES

 A
YA

N
T 

A
 E

N
 C

O
N

N
A

ITR
E 

ET
 N

E 
PE

UV
EN

T 
ET

RE
 R

EP
RO

D
UI

TS
 N

I D
IV

UL
G

UE
S 

A
TO

UT
E 

A
UT

RE
 P

ER
SO

N
N

E 
SA

N
S 

A
UT

O
RI

SA
TIO

N
 P

RE
A

LA
BL

E 
EC

RI
TE

 P
A

R 
EF

FI
LU

X

TH
IS

 D
O

C
UM

EN
T 

A
N

D
 T

HE
 IN

FO
RM

A
TIO

N
 IT

 C
O

N
TA

IN
S 

A
RE

 P
RO

PE
RT

Y 
O

F
EF

FI
LU

X 
A

N
D

 C
O

N
FI

D
EN

TIA
L.

 T
HE

Y 
SH

A
LL

 N
O

T 
BE

 R
EP

RO
D

UC
ED

 N
O

R
D

IS
C

LO
SE

D
 T

O
 A

N
Y 

PE
RS

O
N

 E
XC

EP
T 

TO
 T

HO
SE

 H
A

V
IN

G
 A

 N
EE

D
 T

O
 K

N
O

W
TH

EM
 W

ITH
O

UT
 P

RI
O

R 
W

RI
TT

EN
 C

O
N

SE
N

T 
O

F 
EF

FI
LU

X

/
Revision

EFFM-1-HORI-STEEL-V2

CAMERA

Designation

PageScale Size
A3

Mail: sales@effilux.fr
Tel : +33 9 72 52 70 03
www.effilux.com

SICK INSPECTOR

1:2

Unit : mm

12/15

 

 

ISO 2768 - fH-E

General Tolerances15/11/2023
Date

1 Rue de Terre Neuve
Mini Parc du Verger
Bâtiment E
91940 Les Ulis, France



 90 

 1
80

 

 6
0 

 82 

 163 

WORKING DISTANCE ADJUSTMENT:
4x M4X6 (CHC SCREWS INCLUDED)

SICK INSPECTOR P63X

 72  60.1 

 6
0.

1 

LIGHT MOUNTING HOLES:
RING/SDOME/FD : 4x M4X8 (CHC SCREWS INCLUDED)
FD (D>39) : 4x M4X10 (CHC SCREWS NOT INCLUDED)

EFFM-1-0025-STEEL-V2

EFFM-1-0024-STEEL-V2

DETAIL 13

CAMERA MOUNTING HOLES:
4x M4 (SCREWS NOT INCLUDED)

  QUICK INSTRUCTION GUIDE

  1-MOUNT THE CAMERA ON THE EFFM-1-0025-STEEL-V2  
  2-MOUNT THE 2 PARTS TOGETHER
  3-CHOOSE YOUR WORKING DISTANCE
  4-MOUNT THE BRACKET ON THE LIGHT

4
3

2
1

ABCDEFGH

4

3

2

1

ABCDEFGH

C
E 

D
O

C
UM

EN
T 

ET
 L

ES
 IN

FO
RM

A
TIO

N
S 

Q
U'

IL
 C

O
N

TIE
N

T 
SO

N
T 

C
O

N
FI

D
EN

TIE
LS

 E
T 

SO
N

T 
LA

PR
O

PR
IE

TE
 E

XC
LU

SI
V

E 
D

E 
EF

FI
LU

X.
 IL

S 
N

E 
D

O
IV

EN
T 

ET
RE

 C
O

M
M

UN
IQ

UE
S 

Q
U'

A
UX

PE
RS

O
N

N
ES

 A
YA

N
T 

A
 E

N
 C

O
N

N
A

ITR
E 

ET
 N

E 
PE

UV
EN

T 
ET

RE
 R

EP
RO

D
UI

TS
 N

I D
IV

UL
G

UE
S 

A
TO

UT
E 

A
UT

RE
 P

ER
SO

N
N

E 
SA

N
S 

A
UT

O
RI

SA
TIO

N
 P

RE
A

LA
BL

E 
EC

RI
TE

 P
A

R 
EF

FI
LU

X

TH
IS

 D
O

C
UM

EN
T 

A
N

D
 T

HE
 IN

FO
RM

A
TIO

N
 IT

 C
O

N
TA

IN
S 

A
RE

 P
RO

PE
RT

Y 
O

F
EF

FI
LU

X 
A

N
D

 C
O

N
FI

D
EN

TIA
L.

 T
HE

Y 
SH

A
LL

 N
O

T 
BE

 R
EP

RO
D

UC
ED

 N
O

R
D

IS
C

LO
SE

D
 T

O
 A

N
Y 

PE
RS

O
N

 E
XC

EP
T 

TO
 T

HO
SE

 H
A

V
IN

G
 A

 N
EE

D
 T

O
 K

N
O

W
TH

EM
 W

ITH
O

UT
 P

RI
O

R 
W

RI
TT

EN
 C

O
N

SE
N

T 
O

F 
EF

FI
LU

X

/
Revision

EFFM-1-HORI-STEEL-V2

CAMERA

Designation

PageScale Size
A3

Mail: sales@effilux.fr
Tel : +33 9 72 52 70 03
www.effilux.com

SICK INSPECTOR P63X

1:2

Unit : mm

13/15

 

 

ISO 2768 - fH-E

General Tolerances15/11/2023
Date

1 Rue de Terre Neuve
Mini Parc du Verger
Bâtiment E
91940 Les Ulis, France



 90 

 1
80

 

 6
0 

 82 

 163 

WORKING DISTANCE ADJUSTMENT:
4x M4X6 (CHC SCREWS INCLUDED)

SICK INSPECTOR P64X - P65X

 72 
 60.1 

 6
0.

1 

LIGHT MOUNTING HOLES:
RING/SDOME/FD : 4x M4X8 (CHC SCREWS INCLUDED)
FD (D>39) : 4x M4X10 (CHC SCREWS NOT INCLUDED)

EFFM-1-0025-STEEL-V2

EFFM-1-0024-STEEL-V2

DETAIL 14

CAMERA MOUNTING HOLES:
4x M4 (SCREWS NOT INCLUDED)

  QUICK INSTRUCTION GUIDE

  1-MOUNT THE CAMERA ON THE EFFM-1-0025-STEEL-V2  
  2-MOUNT THE 2 PARTS TOGETHER
  3-CHOOSE YOUR WORKING DISTANCE
  4-MOUNT THE BRACKET ON THE LIGHT

4
3

2
1

ABCDEFGH

4

3

2

1

ABCDEFGH

C
E 

D
O

C
UM

EN
T 

ET
 L

ES
 IN

FO
RM

A
TIO

N
S 

Q
U'

IL
 C

O
N

TIE
N

T 
SO

N
T 

C
O

N
FI

D
EN

TIE
LS

 E
T 

SO
N

T 
LA

PR
O

PR
IE

TE
 E

XC
LU

SI
V

E 
D

E 
EF

FI
LU

X.
 IL

S 
N

E 
D

O
IV

EN
T 

ET
RE

 C
O

M
M

UN
IQ

UE
S 

Q
U'

A
UX

PE
RS

O
N

N
ES

 A
YA

N
T 

A
 E

N
 C

O
N

N
A

ITR
E 

ET
 N

E 
PE

UV
EN

T 
ET

RE
 R

EP
RO

D
UI

TS
 N

I D
IV

UL
G

UE
S 

A
TO

UT
E 

A
UT

RE
 P

ER
SO

N
N

E 
SA

N
S 

A
UT

O
RI

SA
TIO

N
 P

RE
A

LA
BL

E 
EC

RI
TE

 P
A

R 
EF

FI
LU

X

TH
IS

 D
O

C
UM

EN
T 

A
N

D
 T

HE
 IN

FO
RM

A
TIO

N
 IT

 C
O

N
TA

IN
S 

A
RE

 P
RO

PE
RT

Y 
O

F
EF

FI
LU

X 
A

N
D

 C
O

N
FI

D
EN

TIA
L.

 T
HE

Y 
SH

A
LL

 N
O

T 
BE

 R
EP

RO
D

UC
ED

 N
O

R
D

IS
C

LO
SE

D
 T

O
 A

N
Y 

PE
RS

O
N

 E
XC

EP
T 

TO
 T

HO
SE

 H
A

V
IN

G
 A

 N
EE

D
 T

O
 K

N
O

W
TH

EM
 W

ITH
O

UT
 P

RI
O

R 
W

RI
TT

EN
 C

O
N

SE
N

T 
O

F 
EF

FI
LU

X

/
Revision

EFFM-1-HORI-STEEL-V2

CAMERA

Designation

PageScale Size
A3

Mail: sales@effilux.fr
Tel : +33 9 72 52 70 03
www.effilux.com

SICK INSPECTOR P64X - P65X

1:2

Unit : mm

14/15

 

 

ISO 2768 - fH-E

General Tolerances15/11/2023
Date

1 Rue de Terre Neuve
Mini Parc du Verger
Bâtiment E
91940 Les Ulis, France



 90 

 1
80

 

 6
0 

 82 

 163 

WORKING DISTANCE ADJUSTMENT:
4x M4X6 (CHC SCREWS INCLUDED)

ZEBRA-AS-000447-XX

 72  60.1 

 6
0.

1 

LIGHT MOUNTING HOLES:
RING/SDOME/FD : 4x M4X8 (CHC SCREWS INCLUDED)
FD (D>39) : 4x M4X10 (CHC SCREWS NOT INCLUDED)

EFFM-1-0025-STEEL-V2

EFFM-1-0024-STEEL-V2

DETAIL 15

CAMERA MOUNTING HOLES:
4x M3 (SCREWS NOT INCLUDED)

  QUICK INSTRUCTION GUIDE

  1-MOUNT THE CAMERA ON THE EFFM-1-0025-STEEL-V2  
  2-MOUNT THE 2 PARTS TOGETHER
  3-CHOOSE YOUR WORKING DISTANCE
  4-MOUNT THE BRACKET ON THE LIGHT

4
3

2
1

ABCDEFGH

4

3

2

1

ABCDEFGH

C
E 

D
O

C
UM

EN
T 

ET
 L

ES
 IN

FO
RM

A
TIO

N
S 

Q
U'

IL
 C

O
N

TIE
N

T 
SO

N
T 

C
O

N
FI

D
EN

TIE
LS

 E
T 

SO
N

T 
LA

PR
O

PR
IE

TE
 E

XC
LU

SI
V

E 
D

E 
EF

FI
LU

X.
 IL

S 
N

E 
D

O
IV

EN
T 

ET
RE

 C
O

M
M

UN
IQ

UE
S 

Q
U'

A
UX

PE
RS

O
N

N
ES

 A
YA

N
T 

A
 E

N
 C

O
N

N
A

ITR
E 

ET
 N

E 
PE

UV
EN

T 
ET

RE
 R

EP
RO

D
UI

TS
 N

I D
IV

UL
G

UE
S 

A
TO

UT
E 

A
UT

RE
 P

ER
SO

N
N

E 
SA

N
S 

A
UT

O
RI

SA
TIO

N
 P

RE
A

LA
BL

E 
EC

RI
TE

 P
A

R 
EF

FI
LU

X

TH
IS

 D
O

C
UM

EN
T 

A
N

D
 T

HE
 IN

FO
RM

A
TIO

N
 IT

 C
O

N
TA

IN
S 

A
RE

 P
RO

PE
RT

Y 
O

F
EF

FI
LU

X 
A

N
D

 C
O

N
FI

D
EN

TIA
L.

 T
HE

Y 
SH

A
LL

 N
O

T 
BE

 R
EP

RO
D

UC
ED

 N
O

R
D

IS
C

LO
SE

D
 T

O
 A

N
Y 

PE
RS

O
N

 E
XC

EP
T 

TO
 T

HO
SE

 H
A

V
IN

G
 A

 N
EE

D
 T

O
 K

N
O

W
TH

EM
 W

ITH
O

UT
 P

RI
O

R 
W

RI
TT

EN
 C

O
N

SE
N

T 
O

F 
EF

FI
LU

X

/
Revision

EFFM-1-HORI-STEEL-V2

CAMERA

Designation

PageScale Size
A3

Mail: sales@effilux.fr
Tel : +33 9 72 52 70 03
www.effilux.com

ZEBRA-AS-000447-XX

1:2

Unit : mm

15/15

 

 

ISO 2768 - fH-E

General Tolerances15/11/2023
Date

1 Rue de Terre Neuve
Mini Parc du Verger
Bâtiment E
91940 Les Ulis, France


	BALUFF BVS
	Vue de mise en plan2
	Vue de mise en plan4
	Vue de mise en plan8
	Vue de mise en plan9
	Vue de mise en plan10
	Vue de détail A (1 : 1)

	COGNEX D900
	Vue de mise en plan12
	Vue de mise en plan13
	Vue de mise en plan15
	Vue de mise en plan16
	Vue de mise en plan17
	Vue de détail B (1 : 2)

	COGNEX INSIGHT-5000
	Vue de mise en plan18
	Vue de mise en plan19
	Vue de mise en plan21
	Vue de mise en plan22
	Vue de mise en plan23
	Vue de détail B (1 : 2)

	COGNEX INSIGHT-7000
	Vue de mise en plan24
	Vue de mise en plan25
	Vue de mise en plan27
	Vue de mise en plan28
	Vue de mise en plan29
	Vue de détail B (1 : 1)

	COGNEX INSIGHT-9000
	Vue de mise en plan30
	Vue de mise en plan31
	Vue de mise en plan33
	Vue de mise en plan34
	Vue de mise en plan35
	Vue de détail B (1 : 2)

	DATALOGIC A30
	Vue de mise en plan36
	Vue de mise en plan37
	Vue de mise en plan39
	Vue de mise en plan40
	Vue de mise en plan41
	Vue de détail B (1 : 2)

	DATALOGIC P1X
	Vue de mise en plan42
	Vue de mise en plan43
	Vue de mise en plan45
	Vue de mise en plan46
	Vue de mise en plan47
	Vue de détail B (1 : 1)

	DATALOGIC T4X
	Vue de mise en plan48
	Vue de mise en plan49
	Vue de mise en plan51
	Vue de mise en plan52
	Vue de mise en plan53
	Vue de détail B (1 : 2)

	MATROX GATOREYE
	Vue de mise en plan54
	Vue de mise en plan55
	Vue de mise en plan57
	Vue de mise en plan58
	Vue de mise en plan59
	Vue de détail B (1 : 2)

	MATROX IRIS GT
	Vue de mise en plan60
	Vue de mise en plan61
	Vue de mise en plan63
	Vue de mise en plan64
	Vue de mise en plan65
	Vue de détail B (1 : 2)

	MATROX IRIS GTR
	Vue de mise en plan66
	Vue de mise en plan67
	Vue de mise en plan69
	Vue de mise en plan70
	Vue de mise en plan71
	Vue de détail B (1 : 2)

	SICK INSPECTOR
	Vue de mise en plan72
	Vue de mise en plan73
	Vue de mise en plan75
	Vue de mise en plan76
	Vue de mise en plan77
	Vue de détail B (1 : 2)

	SICK INSPECTOR P63X
	Vue de mise en plan78
	Vue de mise en plan79
	Vue de mise en plan81
	Vue de mise en plan82
	Vue de mise en plan83
	Vue de détail B (1 : 2)

	SICK INSPECTOR P64X - P65X
	Vue de mise en plan84
	Vue de mise en plan85
	Vue de mise en plan87
	Vue de mise en plan88
	Vue de mise en plan89
	Vue de détail B (1 : 2)

	ZEBRA-AS-000447-XX
	Vue de mise en plan90
	Vue de mise en plan91
	Vue de mise en plan93
	Vue de mise en plan94
	Vue de mise en plan95
	Vue de détail C (1 : 2)


